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END TERM EXAMINATION

FIRST SEMESTER [BCOM(HONS)] JANUARY 2024

»
Paper Code: BCOM-101 Subject: Financial Accounting |
Time: 3 Hours Maximum Marks: 60

Note: Attempt five questions in all including Q.Nol which is compulsory. |

Q1  Write short notes on any four (4x3=12)
. a) GAAP
b) Green Accounting
c) Imprest System of Petty Cash Book
d) Deferred Revenue Expenditure 6

e) Dual Aspect Concept

f) Provisions vs Reserves

g) Reasons of difference between balance of Cash Book and Pass
Book of a business

Q2 “The function of accounting is to provide quanti.ta}tivc inforrr}aﬁon,
primarily financial in nature, about economic entities.” Explain the

various users of such information and their purpose for using it in deﬁg.’

Q3 Pass journal entries for the following transactions: :

a) Opening balances of Rohit & Sons as onlst April, 2022 are: Cash in

hand Rs. 600; Cash at Bank Rs. 14,000; Bills Payable Rs. 2,000;
Virat (Debtor) Rs. 1,600; Stock Rs. 8,000; Hardik (Creditor) Rs.
4,000; Sachin (Debtor) Rs. 3,000; Rahul (Creditor) Rs. 1,800.

b) Wasim who owed Rs. 2,00,000 is declared insolvent on 31stMarch,
n022. Received 40 paisa in a rupec from his official assignee.
Goods purchased from Ravindra for Rs. 50,000 on {SmSeptembcr,
1022. He allowed trade discount @ 10% and cash discount @ 5%.

60% paid to him on the same day. .
d) On 03%8‘ December, 2022, goods worth Rs. 10,000 were ta.xken by

al use& goods worth Rs. 5,000given as

e ' Rai Kumar, as on 313t March,
. The following is the Trial Balance of M /§ ?]r_ ’
- 2032. You arge required to preparc Trading, Profit & Loss Account and

Balance Sheet for the year 31st March, 2022, after taking into account
the necessary adjustments.
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Particulars : Dr. {(Rs.) Cr. (Rs.)

Sundry Debtors 10,00,000

Sundry Creditors 4,00,000

Outstanding Liability for Expenses 1,10,000

Wages 2,00,000

Carriage Outwards 2,20,000

Carriage Inwards 1,00,000

General Expenses 1,40,000

Discount 40,000

Bad Debts > 20,000

Motor Car 4,80,000

Printing & Stationary * 30,000

Furniture & Fittingd 2,20,000

Advertisement 1,70,000

Insurance 90,000

Salesmen’s Commission 1,75,000

Postage & Telephone 1,15,000

Salaries 3,20,060

Rates & Taxes 4 50,000

Drawings 40,000 )

Capital 28,86,000

Purchases * 31,00,000

Sales . 39,75,000

Stock on 1% April, 2021 5,00,000

Cash at Bank 1,20,000

Cash in Hand 21,000 :
72,61,000 72,61,000

Adjustments:

a) Stock on 31st March, 2022 was Rs. 14,50,000.
b) A Provision for Bad Debts is to be created @ 5 percent on Sundry

Debtors.

c) Depreciation charged on Furniture & Fittings and on Motor Car by

10% and 20% respectively.

d) Mr. Raj Kumar withdrawn goods worth R j
e) Sales include goods worth Rs. 1,50,000 sent out to M/s Govind &
Sons on approval and no confirmation
2022. Cost of the goods was Rs. 1,00,000.
Salesmen are entitled to a Commission of
Sundry Debtors include Rs.
) Printing & Stationary expenses O

had not been proceed in

debiting Outstanding Liabilities.
1) Purchases include purchase of

o 00, &

a)
objectives.
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that year but was pai

s. 50,000 during the ye
has received till 31st March,

5% on total sales.

50,000 Bad Debts.

f Rs. 1,10,000 relating to 2020-21

d in this year by
Furniture worth Rs. 1,00,000. (12)

What is a Bank Reconciliation Statement? Briefly explain its
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b) On 31st December, 2022, the Cash Book of a merchant showed a
bank overdraft of Rs. 1,72,985. On comparing the Cash Book with
.n:o Bank Pass Book the following discrepancies were noted:

1) Cheques issued for Rs. 60,000 were not presented in the

; bank till 7th January, 2023.

11) Cheques amounting to Rs. 75,000 were deposited in the

bank but were not collected.

iii) A cheque of Rs. 15,000 received from Mahesh Chand and
deposited in the bank was dishonoured and advice of non-
Wwwm.o:n was not received from bank till the 15t January,

iv)]  Rs. 1,50,000 being the proceeds of a bill receivable collected
appear in the Pass Book but not in the Cash Book.

V) Bank charges Rs. 1,500 and interest on overdraft Rs. 8,500
appear in the Pass Book but notin the Cash Book. \ O.

Prepare a Bank Reconciliation- Statement and show what balance

the Bank Pass Book would indicate on 31st December, 2022. (8)

Touch Wood Ltd. purchased on 1st January 2017, a machinery for Rs.
1,94,000 and spent Rs. 6,000 on its erection. On 1sJuly 2017 additional
machinery costing Rs. 1,00,000 was purchased. On 1* July 2019; the
machinery purchased on 1s{January 2017 has been auctioned for Rs.
1,00,000 and on the same date, new machinery was purchased at a cost
of Rs. 1,50,000. Depreciation was provided annually on 31stDecember at
the rate of 10% p.a. on the original cost. No depreciation need be charged
during the year of sale of machinery for that part of the year when the
machine was used. In 2021, the company has changed the method of
depreciation to written down value method at the rate of 15% p.a. from
the straight line method w.e.f. 2017. Show the machinery account for the

period from 2017 to 2021. (12)

a) Differentiate between Perpetual and Periodic Inventory System. (4)

b) Set up a “stores ledger” form and enter the following transactions
adopting the FIFO and Weighted Average Price method of pricing
out issues.

2022 .
Jan.l1 Opening Stock  2000pieces @ Rs.2.00 each
Jan.5 Purchases 1000 pieces @ Rs.2.20 each

1500pieces@ Rs.2.40 each
1800 pieces @ Rs.2.40 each

Jan.10 Purchases
Jan.20 Purchases

Jan.2 Issues 1500 pieces
Jan.7 issues 1000 pieces
Jan.12 Issues 1000 pieces
Jan.28 Issues 2000 pieces (8)

“Accounting in modern era is eyeing towards sustainable development.”
Justify the statement by highlighting the Contemporary Issues in
Accounting. (12)
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END TERM EXAMINATION B

FIrsT SEMESTER [B.COM (HONS.)] JANUARY 2024

\Paper Code: BCOM-109 Subject: Business Communication (C)
Time: 3 Hours Maximum Marks: 60
Note: Attempt any five questions.

Q1 Define the concept of communication within an organizational context.
Elaborate on the significance of effective communication for
organizational success, providing examples to support your argument.(12)

Q2 Explain the challenges posed by cross-cultural differences in global
communication. Provide strategies that organizations can adopt to
mitigate these challenges and foster effective  cross-cultural

- communication. | (12)

Q3 Outline the essential components of an effective business plan. Discuss
how these components differ and explain their significance in securing
investment or support for a business venture. , (12)

Q4 Evaluate the role of multimedia in corporate presentations. Discuss how
multimedia elements enhance the effectiveness of presentations and
analyse the considerations for their strategic integration in conveying
business messages. (12)

Q5 Discuss the essential elements and strategies for crafting effective
quotations 1n business communication. Evaluate the factors that
influence the decision-making process when sending quotations, and
elaborate on the procedures involved in placing orders based on these

quotations. (12)

Q6 Analyse the characteristics of shorter business messages and their
effectiveness in conveying information efficiently. Illustrate strategies for
effective reading and writing of concise business messages, emphasizing

Ll

clarity, brevity, and the appropriate tone for various communication P
purposes. | (12)

Q7 Explain the significance of effective website content rpapggement .in
attracting online traffic. Outline three strategies for optimizing website

content to increase user engagement and retention. (12)
Q8 Analyse the benefits of active participation In online business

communities. Illustrate the role of these communities in fostering
professional connections, knowledge-sharing, and business growth. (12)
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END TERM EXAMINATION
FIRST SEMESTER [B.COM | (HONS. )] JANUARY 2024

Paper Code: BCOM-105 Subjfect: Quantitative Techniques for
Commerce

Time: 3 Hours Maximum Marks: 60

Note: Attempt any flve questions. All questions carry equal marks.

Q1 a) A man has 7 relatives, 4 of them are ladies and 3
gentlemen. His wife has also 7 relatjves,3 of them are ladies
and 4 gentlemen. In how many ways can they invite a
dinner party of 3 ladies and 3 gentlemen so that there are 3
of men’s relatives and 3 of wife’s relatives?
b) Find the sum of the following 7 + 77 + 777 +
........... esresmasenses: 11 UETINS,

" Q2 Solve the following system of equations using Matrix Inversion
method.

2X-y+3z=5
3Xx+2y-2=7
4x + Sy -5z=9

Q3 a) A function f is defined as

x+1 ,if-1< x<0
fix)=|X% if 0sxs1
2—-x, ifl<xs2

Discuss the continuity of the function at x= 0 and x= 1.

b) Ifu=sin"!x? +y?  UsingBuler’s Theorem show that

Xty
ﬂl@..-u.l.?%? = tanu
ox Oy ,

Q4 a) A sitar manufacturer can sell x sitars per week at p rupees

each, where 5x= 375-3p. The cost of production is

500 + 13x +(1/5) x2 . Find how many sitars he should
manufacture for maximum profit and what is that profit?

b) If the demand function of a certain commodity is given

by p = 50 - x. Calculate price elasticity of demand when

p=10.
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a) The quantity .aanbnaa and the corresponding price under
pure ooBvacn.mou in a market are determined by the
demand function and supply function P = 1600 -x2 and
P = 2x? + 400 respectively. Determine the corresponding
consumer’s and producer’s surplus.

b) If the first time you perform a job takes 60minutes, how

long will the eighth job take if you are on an 80% learning
curve?

a) Evaluate the following integral with respect to
xX+5
dx

¥ G D12y

b) The marginal cost function of manufacturing x pair of shoes
is 6 + 10x ~ 6x2. The total cost of producing a pair of shoes

isRs. 12. Hud Hu g kel O»\&D(r& part Fum

Solve the following Linear programming problem using simplex
method:
. Maximize Z = 5x; + 7x2
Subject to constraints
Xx1+xX2 < 4
3x1 ~8x2< 24
10x: + 7x25 35
And x1,X2,20

a) What is Duality? Explain the relationship between a primal
and its dual in Linear Programming Problem.
b) Obtain the dual for the following LPP:
Maximize Z = 3x1 + Sx2 + 7X3
Subject to constraints

X1 +x2+3x3510

4x1-x2+2x3215
And X1, X2, 2 0, X3 unrestricted variable
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